Agriculture

Task 1 Classifying Farming

a) Match the types of farms – type of farm produce

Arable farms




They specialise in animal rearing.

Pastoral farms




They specialise in growing crops.

Mixed farms




They have both animals and crops.

b) Intensive farming: Intensive farms produce a .............. yield per hectare and inputs are high. The inputs can be money and technology, e.g. ................................... (where) farmers need to buy a lot of fertiliser and special equipment. Also farms can have a high input of ................., which is common in LEDCs, such as rice farming in ...............

Extensive farming: Extensive farms tend to be large and are often on land which is ................ These farms have few workers but because of the size of these farms, yields can still be ................ An example of an extensive farm is a wheat farm in .....................

c) 
Subsistence farming: farmers produce things to feed themselves


Commercial farming: farmers produce things for ...............
Task 2 Factors affecting agriculture – complete the chart

	Physical factors
	Human factors

	Climate
	
	Political
	

	
	fertility, pH, structure, texture
	Economic
	farm size, 



	Slope
	
	Social
	education, 



	Relief
	
	
	


Classify these examples of farming, use a), b), c) classifications

A dairy farm of 140 hectares, England:  
 .........................................................................................................................

A tea plantation in India:

.........................................................................................................................

A large sheep farm in the Australian Outback: ...............................................................................................................

A farm producing bulbs and flowers in Holland: ............................................................................................................

Vine growing in California:

.........................................................................................................................

A peasant’s two hectare plot of vegetables in Nepal. ....................................................................................................

A British battery chicken farm:

.........................................................................................................................
